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ANSWERSA
A
1. The Smith family owns a Shorthorn bull who is homozygous red and want to breed him to a female shorthorn who is homozygous roan. If red is considered dominant and roan is considered recessive, what is the percentage that the cow will have a roan calf? What is the percentage the cow will have a red calf?
ANSWER: 
RED: ____100_____% 
ROAN: ______0_____%
2. The Lopez’s want to breed their homozygous blue butt boar to their heterozygous black crossbreed sow. If black is dominant and blue butt is recessive, what is the percentage that the litter will be all black and what is the percentage of the litter will be spotted (blue butt coloring)
ANSWER: 
BLACK: ___50_____% 
SPOTTED: ____50_____%
3. The Brick family wants to improve their cattle’s feed efficiency. Saying an increased feed efficiency is a heterozygous trait their Bull has tested positive to carry this heterozygous trait. However, their female does not. Meaning she is homozygous neutral to decreased feed efficiency. What is the percentage that her calf could have an increase in feed efficiency? What is the percentage that her calf could stay neutral or decrease in feed efficiency?
ANSWER:
Increased Feed Efficiency: ______50________%
Neutral/Decreased Feed Efficiency: _________50_______%
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